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Al A

SA AF
BH: F289 Y
Rl FHEENe (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 10,427,797 9,611,229 816,568
= 5,662,880
Jl 415,000
= 1,158,844
Al 3,191,073
FHE=2 g 10,3%4,797 9,579,429 815,368
= 5,662,880
) 415,000
= 1,158,844
Al 3,158,073
FHEEMNH 10,034,632 9,092,539 942,093
= 5,662,880
Jl 415,000
= 1,158,844
Al 2,797,908
FHEZ LA 185,230 185,230 0
201 fer= 3| 18,750 18,750
01 At 2|l 9,050 9,080
O ==H] 6,500
OFUHY HR=X 3,000,002 3,000
OFNE0 HR2FA 1,500,000& 1,500
O&Yy & FRE2H BIFAFH| S| =&
2,000,000 2,000
O=&H| 2,550
Oy 2= 1,300,000 1,300
OFN20 HR2FA 1,250,000 1,250
02 S3=4gl 9,700 9,700 0
OAlIEZHI= X 9,700
OFHad MEX7 A2 =X
9,700,000& 9,700
202 04| 6,480 6.480
01 SLHoIH 6,480 6,480
OFA2g g2 3,480,000 3,480
FHEEAY SEEXA 1,000,000 1,000
Ogld & NASE & DM A S#8X
At 1,000,000& 1,000
FHE0 2= 1,000,000 1,000
402 QIF X201 & 160,000 160,000
01 QI X2 AL E A (KEHITHE) 160,000 160,000
OR:2H LXA=ES JHI
160,000,000 160,000
s S8l 402,342 523,562 N121,220
201 er=23y| 70,742 6,962 63,780
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FA AFL
B 3280 a4l
chel: Z=){s2NM (19 @)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
SELYTHIAM (EX) (HEAY) 269,000 250,000 19,000
= 80,700
Al 188,300
402 SIZERHE01 M 269,000 250,000 19,000
= 80,700
Al 188,300
02 RIENZASEZ (01 THR) 269,000 250,000 19,000
O 218 E| 269,000,000 269,000
s 80,700
Al 188,300
FNSH(EX) 6,990,000 6,404,447 585,553
= 5,592,000
=S 699,000
Al 699,000
301 22N = 4,194,000 3,940,351 253,649
= 3,355,200
= 419,400
Al 419,400
01 Al EE A S (2 RNEXMR) 4,194,000 3,940,351 253,649
OFH=20 4,194,000,000& 4,194,000
= 3,355,200
= 419,400
Al 419,400
403 AXIEHMSA=Z0l1d 2,796,000 2,464,096 331,904
= 2,236,800
= 279,600
Al 279,600
02 SIS0t =22 P E A I 2,796,000 2,464,096 331,904
O 8K X 2,796,000,000& 2,796,000
= 2,236,800
& 279,600
Al 279,600
MNASE dUHEE2 NAML(SRERIR) 78,300 78,300
501 4t=2 78,300 78,300
01 2Is A= 78,300 78,300
OMASE JUHESS N
78,300,000& 78,300
S0HE Z0HQI=& JHZAIS (EX) 114,000 114,000 0
= 57,000
= 17,100
Al 39,900
402 2I2F X201 & 114,000 114,000 0
= 57,000
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SA AF
BH: F289 Y
el FAHEZENA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
034 2 AESS AHEES A
100,000,000 100,000
Ed8d 3| 210,000 210,000
201 er=23y| 10,000 10,000
01 AtR2t2|HI 10,000 10,000
OSZUF Y2HIS 2D U 2B} 44
= 10,000,000& 10,000
401 Al HIZL S 0HYI 200,000 200,000
01 Al&HI 198,560 198,560
Sged i 200,000,000 *99.28% 198,560
03 Al 2 0HHI 1,440 1,440 0
OSgey &l 200,000, 0002 *0.72% 1,440
FHEA BAl SEXZAL(EX) 21,400 87,000 265,600
= 10,700
= 3,210
Al 7,490
301 EtE N = 21,400 87,000 65,600
= 10,700
< 3,210
Al 7,490
01 AR 2EHSFS(RNEERTH) 21,400 87,000 65,600
OH I A StAl SEXJAAL
21,400,000& 21,400
= 10,700
[ 3,210
Al 7,490
ZHIZ2Z2X S FAAE S3HE M (EX) 25,000 10,000 15,000
= 7,500
Al 17,500
402 2IZtA=01d 25,000 10,000 15,000
= 7,500
Al 17,500
02 QI XHE AL E R (01X THE) 25,000 10,000 15,000
O2Z=ZS AH22N S SHAIE 32
o K& 25,000,000& 25,000
< 7,500
Al 17,500
HERR SSYUFH UHESS NIAML(EHEX 264,000 0 264,000
2)
501 SX-3 264,000 264,000
01 2Is A= 264,000 264,000
OLESS DAL LTHBET NA
& 264,000,000 264,000
HIZ&ANH HFXE OIAHH X (EX) 4,800 0 4,800




SA AF
BH: F289 Y
el FAHEZENA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,400
=S 2,400
301 EtE NS 4,800 4,800
= 2,400
== 2,400
14 DBt 2 a=S 4,800 4,800
OUIBAHH HFEX 0IM] XIS
4,800,000 4,800
= 2,400
= 2,400
HE MNESSEEEE 258 KNFAMP(EX) 1,560 1,560
= 780
= 234
Al 546
301 EetE NS 1,560 1,560
= 780
= 234
Al 546
14 JIEt 2 a3 1,560 1,560
OZU FAPES HaPs 922 X
1,560,000 1,560
= 780
= 234
Al 546
CESIUUFE AENE(EX) 500,000 500,000
Il 300,000
Al 200,000
401 AIEHIZ SR OHYI 500,000 500,000
7l 300,000
Al 200,000
01 Al&HI 496,400 496,400
CEBBYAUEY AlLIHA
496,400,000 496,400
Jl 297,840
Al 198,560
03 AIZ S THYI 3,600 3,600
O=STTYUFY AlLHA
3,600,000& 3,600
Il 2,160
Al 1,440
a2 SSFE YEESE ld XA 5,000 5,000
= 1,500
Al 3,500
401 Al HIZ 2018 5,000 5,000
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2A:

2=
B2 30|
5

ol (Sl &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 2,646 2,646
01 2LHoIH 2,646 2,646
OHEXA g2FA 2,646,000& 2,646
AFRE =Al2 5,592 5,52 0
201 er2 3| 4,370 4,370
01 AtR2te|HI 4,370 4,370
O+ 3,49%
OZE= =Al2d & gF=4
1,748,000& 1,748
OA=5It Ol M= ¥ wElg o d=
1,748,000 1,748
O=Ztl 874
OASE SN2 Y BHASS oI 22
= 874,000& 874
202 04l 1,222 1,222
01 2LHoIH 1,222 1,222
OJIBAIE 2E3 Ay Z4
611,000& 611
OO0 k= & Weig 2 A=
611,000& 611
ASANEE RS A 261,271 257,9% 3,275
201 2= 7,945 4,001 3,944
01 At22t2l] 7,945 4,001 3,944
O et=ZH| 5,645
OA=AE 2= 1,945,000& 1,945
ogsEz 3 HH0IE 2,200,000& 2,200
OASAL SN Y
1,500,000& 1,500
o=l 2,300
OA=AE 2= 1,300,000& 1,300
O=0ES0ISAIE FHIAIE
1,000,000& 1,000
202 04| 3,326 2,495 831
01 2LHA b 3,326 2,495 831
OA=AE SR 3,326,000 3,326
402 BIZtAH=01H 250,000 250,000
01 QI X2 AL E A (KHHITHE) 250,000 250,000
O SS0IBAIL(2F) FH| &= - K2
= 250,000,000 250,000
HH2AZH(ASF) 33,000 31,800 1,200
[2Z2HI(A=m) 33,000 31,800 1,200
JlEZe(A=1) 33,000 31,800 1,200
202 04| 28,800 27,600 1,200
01 =LHO LI 28,800 27,600 1,200
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